
Question 1: A model which represents the shift away from strict adherence to the waterfall model
is:

Incremental model
Waterfall model
Spiral model
Iterative model

Question 2: An alternative to translators

Assembler
Compiler
Interpreter

Mnemonics

Question 3: On social media, sometimes, a particular __________ is very popular.

Hash tag

Symbol
Operator
Word

Question 4: CONCATENATE operator is used to __________ elements.

Subtract
Multiply
Join

Add

Question 5: A program that is believed to be correct and a program that is correct. The two are

Same
Not same
Not necessarily same

Totally same

Question 6: __________ based on the principles of the logical reasoning ability of humans.

Genetic Algorithms
Rule-based Systems

Feed-Forward Network
None of these

Question 7: The output of fuzzy Logic System is computed by using __________ Technique.
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